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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION - A

Name the gas evolved when a piece of sodium is dropped into ethanol

When one enters a dim-lit room from bright light, one is unable to see the objects in the
room for sometime. Why ?

Which one of the following food habits is better and why ?
(a) Plant - Man
(b) Plant - Goat — man

State the cause of depletion of ozone layer in the atomosphere.

A metal ‘X’ forms an oxide having the formula XO. It belongs to third period in the
modern periodic table. Write the atomic number, valency, electronic configuration and
name of the group to which the element belongs.

Fluorine (atomic number 9) and Chlorine (atomic number 17) are members of the
periodic table.

(i)  Write their electronic configurations.

(i)  Which one is more electronegative ? Give one reason.

Name the sex hormones secreted by male and female sex organs in human beings.
State one function of each.

(i) DNA copying is an essential part of the process of fertilization. Why ?
(i) How is the process of pollination different from fertilization ?

Draw ray diagram to show the position and nature of the image formed by a convex
lens when the object is placed :

(i) beyond 2F

(i) between F and 2F

A person needs a lens of power — 2.0 D for correcting his distant vision and lens of
+1.5 D to correct his near vision. What is the focal length of the lens required for
correcting

(i) distant vision  (ii) near vision ?

(i) What happens to a narrow beam of white light when it passes through a glass
prism ?
(i) Draw a labelled diagram to illustrate it.

Give two reasons why, there is a need of switching over from fossil fuels to the other
sources of energy. Name any two atternative sources of energy.

Suggest any four changes you would like to be incorporated in your lifestyle in a move
towards sustainable use of available resources.

What is Homologus series of organic compounds ? Write its two characteristics. Give
an example of Homologous series.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

A part of the Periodic Table has been shown below.

Group - 1 2 13(14(15|16(17|18
Period |
1
2 A |C E|G
3 B D F

Answer the following questions on the basis of position of elements in the above table.
(i)  Which element is a noble gas ? Give reason.

(i) Which element is most electronegative ? Give reason.

(iii) Write the electronic configuration of (i) B and (ii) E.

How is the sex of foetus determined genetically in human beings ? Support your answer
with the help of a flow chart.

What are fossils ? How are they formed ? Name two methods for the determination of
age of a fossil.

How do Mendel’s experiments show that the traits may be dominant or recessive.
[llustrate with the help of a cross.

(a) Draw a neat diagram of Female reproductive system in human being and label
(i)  the part which secretes ova.
(ii) the part where implantation takes place.

(b) What happens if the fallopian tube is blocked ?

(a) Give two conditios in which a ray of light passes without bending while entering
from one medium to another.

(b) How is refractive index of a medium related to velocity of light in the medium ?

Name the type of mirror used in the following situations and support your answer
with a reason.

(i)  Mirror used for shaving (i) Mirror used by ENT doctors

(iii) Mirror used in the vehicles for viewing the traffic approacing from behind

Name the phenomenon associated with the following :
(i)  The sky appear blue

(i) Formation of a rainbow in the sky

(iii) Twinkling of stars.

What are soaps chemically ? How do they differ from synthetic detergents ? Explain
the mechanism and the cleansing action of soap.

OR
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What is a functional group ?
Draw the structure of

(i)  Chloropentance (CsH,,Cl)
(i) Ethanoic acid

How is scum formed ?

Write the name of the following compounds.

bR iR
@) H-C-C-C-H (i) H-C-C-C-C=0
H O H H H H

24. Answer the following questions.

(a)

25. (a)

What happens if an egg is not fertilized ?

Why do we need to adopt contraceptive measures ?

Name one bacterial and one viral sexually tansmitted disease.

How does the embryo get nourishment inside the mother’s body ?
OR

Why do multicellular organisms, need to use more conplex ways of
reproduction ?

What is the advantage of reproducing through spores ?
How does variation lead to the survival of species overtime ?
Is fertilization possible without pollination ?

Mention any one difference between self and cross pollination.

Find the focal length of a lens of power — 2.5 D. What type of lens is this ?

Light enters from air to glass having refractive index 1.50 . What is the speed
of light in the glass ? (The speed of light in air is 3 x 108 ms™)

State Snell’s law for refraction of light.

How can we obtain an erect and enlarged image of an object using a mirror ?

The radius of curvature of a spherical mirror is 20 cm. What is its focal length ?
OR

Draw a ray diagram to show refraction of light through a glass slab and label
on it the following :

(i) incident ray (i) refracted ray
(iii) emergent ray (iv) lateral shift
State the law of reflection.

A concave mirror produces three times magnified (enlarged) real image of an
object placed at 10 cm in front of it. Find the position of the image.
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26.

27.

28.

29.

30.

31.

SECTION-B

A student determines the focal length of a device X, by focusing the image of a far off
object on the screen positioned as shown in the figure below.

The device X is
(a) convex lens (b)
(c) convex mirror (d)

concave lens
concave mirror

In an experiment to trace the path of a ray of light through a rectangular glass slab,
four students A,B,C and D tabulated their observation as given below

Student A B C D
i 60° 60° 60° 60°
Or 55¢° 50° 409 35¢°
Le 60° 62° 56° 60°

The student who has peformed the experiment with all seriousness and sincerity is :
@ A (b) B (© C (d D

The The colours of the freshly prepared CuSO, and FeSO, solutions respectively are -
(a) Blue and pale green (b) Dark green and Blue
(c) Blue and brown (d) Blue and reddish

When the stopper of a bottle containing a colourless liquid was removed, the bottle
gives out a smell like that of vinegar. The liquid in the bottle could be :

(a) hydrochloric acid (b) sodium hydroxide solution

(c) acetic acid (d) sodium bicarbonate solution

Raisins swell up after being placed in a vessel containing distilled water at the room
temperature for about 2 hours because the

(a) concentration of water in the cellsap is higher than the water in the vessel

(b)  concentration of water in the cellsap in lower than the water in the vessel

(c) concentration of water in the cellsap in same as that of water in the vessel

(d) water present in the raisins passes out of them when placed in water

A student takes Cu, Al, Fe and Zn strips separately in four test tubes labelled as
A, B, C and D respectively. He adds about 5mL of freshly prepared solution of
FeSO, to each of the tubes. After some time he would observe a black residue in the
test tube :

(a) AandB (b) BandC (c)

A and C (d BandD
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32.

33.

34.

35.

36.

Out of the following four diagram A,B, C and D the correctly labelled diagram showing
budding in yeast is :

Nucl f Nucleus
Nucleolus of bud mg:h?;sc:]l Nuclear of bud
Nucleolus of fragment Nucleus of
yeast - Nucleus of Nucleus yeast
(A) (B) daughter cell © D)
(@ A (b) B () C (d D

Out of the four stages of binary fission in amoeba shown, below the stage showing
nuclear fission and cytokineses is stage :

@) I (b) 1I () I d) IV

When sodium bicarbonate powder is added to acetic acid, a gas evolves. Which one
of the following statements is NOT true about the gas ?

(a
(
(c
(d) burns with a pop sound.

turns lime water milky

=3

)
) extinguishes a burining splinter
)

colourless and odourless

For determining the percentage of water absorbed by raisins in a given time, apart
from water, raisins and a watch glass we also require.

(a) a beaker, a graduated cylinder, a thermometer, a filter paper

(b) a watch glass, a graduated cylinder, a thermometer, a balance
(c) a beaker, a thermometer, a filter paper , a balance
(

d) a graduated cylinder, a thermometer, a balance, a beaker.

A student obtains a blurred image of an object on a screen by using a concave mirror.
In order to obtain a sharp image on the screen, he will have to shift the mirror.

(a) towards the screen
(b) away from the screen

(c) either towards or away from the screen depending upon the position of the
object

(d) to a position very far away from the screen.
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37. Some steps are given to be followed while working with the microscope to observe a 1
prepared slide. These steps are not in correct sequence :

() keep the clean prepared slide in the centre of the stage and fix it with the help
of clips.

II) Use fine adjustment screw for sharp focussing

(II) Adjust mirror to get maximum light on the specimen to be observed
(iv) Move the coarse adjustment screw to bring the slide to focus.

The correct sequence of these steps to be followed is

(@) I, 1v, II, 1 (by I, 1v, I, I
() WL I, VI II (d 1L I, I, IV
38 The following data was obtained on performing an experiment for determining the 1

percentage of water absorbed by Raisins :

Mass of water in the beaker = 50g

Mass of dry Raisins = 20g

Mass of Raisins after soaking in water = 30g

Mass of water left in the beaker after the experiment = 40g

The percentage of water absorbed by Raisins will be

(a) —(50 — 48 x 100 (b) —(50 —4)g x 100
40¢g g
30g 0g
39. A student was given the following “suggestions” for finding the focal length of a 1

convex lens.
(a) select an object very far away from the window
(b

(c

selcet a well illuminated object far but not very far from the window
keep all lights of the laboratory on

~ — ~ ~—

(d) place the lens between the object and the screen
(e) Place the screen between the object and the lens
(f)  obtain the sharpest image of the object on the screen.
For getting better results he should follow the suggestions marked :
(@) B,CE (b) AD,F (c) B,CF (d) BD,F
40. Out of four set ups shown for carrying out the experiment to trace the path of a ray 1

of light through a rectangular glass slab, the best set up is.

wlw

(@) A (b) B © C (d)
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41. When Acetic acid is tested with litmus paper the colour of -
(a) blue litmus changes to red
(b) red litmus changes to blue
(c) no change in colour in both cases
(d) red litmus changes to orange.

-00o0-
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12.

13.
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